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'Oriya Plateau’ is situated in which district of Rajasthan ? |
(A) Sirohi (B) Udaipur (C) Dungarpur
e T g™ % frw R A erafem ¥ 7

(A) R (B) TR (©) FWE

(D) Banswara

(D) atearsT

Tungsten is produced in which of the following mining areas ?

(A) Degana (B) Gujarwada (C) Bandar sindri (D) Devda
STt a1 ST P A el A W A e 7 Ny
S@ (@) g © wiw Ricd (D) W
{1 'Troplc of Canc;r ipaésies through which part of Rajasthan ?
(A) North (B) South- (C) Middle (D) Eastern
‘Tep QT ORI & {Fg WFT & el § 7 .
(A) s B) e © W D) T

"Takhat Sagar' water body is sitiiated in which district of Rajasthan ? -

(A) Jodhpur . (B) Jaipur (C) Jalore - (D) Jhunjhunu
T AR AN T HE (T % g o F Rea v ?
(A) ShegT (B) ST (€) wER

'Dead river' is the title used for which of the following rivers ? |

(A) Katli river (B) Kakani river (C) Saabi river (D) Ghaghar river
qr e e P A A e T WM AT 7
(A) I A& (B) @Ml & (C) W& 7

O g9]

'(D) HTEX 81

‘Muhnot Nainsee’ was Diwan of which of the following States 7.

(A) Bikaner (B) Jodhpur (C) Udaipur (D) Jaipur
e oy fRw Tog @1 S ar ? B

(A) dFTT (B) EgT (€) TR (D) A
‘Battle of Tunga’ took place in which of the following years ?

‘g @ gE few ay @er W™ ?
(A) 1777 . (B) 1787 (C) 1789 (D) 1790

Where is Patwon ki ‘Haweli situated ? ‘
(C) Bikaner

(A) Jaipur - (B) Jhunjhunu /(D) Jaisalmer

ueal @l gael bel Rug g 7 | ;

(A) S (B) T (C) ez (D) SEF
AT1845] XA | 2 o | [PTO.

Which of the following instrument is not used in theTerahta}i dance of Rajasthan ?
(A) Manjeera (B) Taanpura (C) Chautara (D) Deru
e & 9 BF-u1 99 ToTeIE % AREae I W 61 e ot ?

(A) w=ira (B) amga (C) @mra (D) 3%
10 Blue Pottery was introduced in Rajasthah by which of the following rulers ?
(A) Maharaja Ram Singh (B) Maharaja Man Singh
(C) Maharaja Madho Singh (D) Maharaja Bhawani Singh
& diedt @ o ¥ fhu smee @ wwen | 7
(A) weraeT W RiE (B)Wtrﬁf%i%”}
(C) weren wdr Rig (D) wEreT war fiE
11 Which of the following dance form is related to the Garasiya tribe ?
(A) Ghurla (B) Walar (C) Gair (D) Gavari
e o § Se-ar TR SNt ¥ gt I ¥ ?
(A) g B) © (D) T
12 Which of the following sanctuary is situated in Churu district ?
(A) Ghana Sanctury (B) Sajjangarh
(C) Shergarh (D) Taal Chhapar
e o 4 BF-wr erwaneg g% e ¥ oraftem ¥ ?
(A) 9T HIOY (B) wSTe
(©) o (D) @ BIIT
13 What is the limit of population for a city to be considered as Nagar Nigam in Rajasthan ?
(A) More than 1 lakh (B) More than 3 lakh
(C) More than-5 lakh (D) More than 4 lakh
Wﬁﬁwﬁﬂmaﬁwﬁaﬁ%mmﬂaﬁmmwﬁaﬁq ?
(A) 1 ¥ ¥ Atus B) 3 @@ ¥ ol
(C) 5w ¥ ot (D) 4 wr@ § a1k
14  Which among the following is writer of Rajtarangini ?
(A) Kalhan (B) Kabir (C) Rana Kumbha (D) Rana Sanga
fe & @ @ el @ dEs ¥ 7 |
(A) weew (B) HAR (C) Tom = (D) om g
AT1845]1 ARF - 3 - [P.T.O.
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Which of the following is birth place of Meera Bai ?

15
(A) Kudki (B) Sadri
(C) Manpura Bhakhri (D) Sojat
PfEddsmo A s wE E 7
(A) e (B) @S
(C) wMYgU HrEd (D) W
16 Rajasthan Financial Corporation (RFC) was established in which year ?
Tt fore wrarie (RFC) @l @ fooq o o 71§ ot 7
(A) 1951 (B) 1956 (C) 1947 (D) 1955
17 As on 10-10-2018 Chief information commissioner of Rajasthan is —
(A) Sh. Suresh Choudhary (B) Sh. Chandra Mohan Meena
(C) Sh. Ashutosh Sharma (D) Sh. T. Shrinivasan
10-10-2018 & T Totea™ & g&I YA Y & - .
A) & g dad (B) &t wHrE Hom
(C) S ey gl D) &t 3. e
18 Where is the 'Hunchback Belt' of Rajasthan situated ?
(A) Udaipur-Rajsamand (B) Alwar-Bharatpur
(C) Jhalawar-Bundi - (D) Nagaur-Ajmer
T B ‘Bas T3’ wel faa ¥ ?
(A) IYT — TS : (B) o — HIAYT.
() e - & (D) A - e
19 Terahtali dance is associated with which of the following castes ?
(A) Bhils ~ (B) Kamar (C) Meena (D) Kathodi
ATEAT T w1 ey g s A ¥ 7
A W@ (B) wE (O Hm (D) ®
20 Which Lok deity is considered as "Vaishno Devi of Thar" ?
(A) Jeena Mata - (B) Chamunda Mata
(C) Jwala Mata - (D) Tanota Mata
fre § @ fpw e 3w Cur @ Ao @ FET oI ¥ 7
(A) ST = (B) WmgvsT AT
(C) <erTer Hre (D) T AW
21 "Geet Gobindsar" is related to which school of painting ?
(A) Marwar (B) Kishangarh (C) Mewar (D) Dhundhad
‘e Mg’ &1 dey fe § @ few i@ ¥ ? |
(A) =rEE - (B) TeerTTe (C) waE (D) o8

AT1845]1 XAF 4

[PTO.

22 Article 35A of the Indian Constitution is related to which of the following ?

23

24

25

26

27

(A) Directive Principles of State Policy

(B) Permanent residents of Jammu and Kashmir
(C) Fundamental Duties

(D) Appointment of Governor of Jammu Kashmir

g diqa™ &1 e 35A F o fee @ wwafem %0
(A) TG & Aia T o

(B) SRI-%HyHIX &% T AN

(€) ¥ e

(D) SW-HHX % T T B! Prgfert

Which of the following city was declared Open Defecation Free (ODF) on 12th April
2018 ? ;o

(A) Sadul Shahar (B) Ganganagar (C) Mount Abu (D) Kishangharh
frrafafea & § @i o7 12 o0 2018 & g A o & gt (ODF) =iftg gam ?

(A) QgAY (B) TR (C) A= oy (D) T

"SMART VILLAGE" Scheme was announced in the Budget
‘e TR ST T | % T H @l TR |
(A) 2010-11 (B) 2014-15 (C) 2017-18

Which one of the article specifically deals with the functions of Chief Minister ?
(A) Article 75 (B) Article 163 (C) Article 167 (D) Article 168

= 9 9 @9 @1 o 9w wu ¥ gt & el § ddfta ¥ 7
(A) TTHT 75 (B) &= 163 (C) =T 167 (D) SITEg 168

Lokayukta is an institution -

(A) Statutory and advisory

(C) Extra constitutional and advisory
Arehrga T ¥ — |

(A) wifafas T wwmEsrl e

(C) Haumer Ud qaEar ger

(D) 2015-16

(B) Statutory and judicial
(D) Extra constitutional and judicial

(B) wifafyes wel =ri¥es s
(D) auEY T R e

Amarshahi is name of : :
(D) Pagri

(A) Jooti (B) Ornament (C) Pottery
STARSTTEN fepreet e & ? |
(A) S (B) gy (€) &l @ = (D) Wi
AT1845] ¢ 5 | [PTO.
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28

29

30

(A FremETsh

Rahi Sarnobat is related to -
(A) Shooting

(C) Boxing

T g few o wwifaa ® 7

(B) Fencing
(D) Wrestling

(B) dwEETsiy

(C) aifeT (arparsi) D) F¥l

Which medal was won by Indian team in the 4 x 400 mts. Mixed Relay Race at 18
Asian Games ?

(A) Gold medal  (B) Silver medal (C) Bronze medal (D) None of these
18 & iy @l § wredia 7@ ¥ fras 4 x 400 A @ S ¥ B9 A vee sar?
(A) @l wEw (B) WM YE  (C) HETEH (D) THABE W

"Who became the first Indian heptathlon athlete to win a'Gold medal in the 2018

Asian Games ? (
(B) Purnima Hembram

(C) Swapna Barman _ (D) Alena Shukh

2018 whirm T A ¥=rUe 3929 § @Ol uge S arel el WA faermst ® -

(A) Pramila Aiyappa

(A) st St (B) gfefr &
(C) w9 FHA (D) sifer T g@
31  Who is the Sports Minister of India ? _
(A) Sh. Ajay Makan ‘ (B) Col. Rajyavardhan Singh Rathore
(C) Sh. Prakash Javadekar (D) Sh. Vijay Goel
a A o A Y 7 | |
(A) Y =TT ATHA (B) @ ToUadARE WSS
(C) 4TI SEASHT (D) i fosra aw
32 Which gynecologist has been named winner of the 2018 Nobel Peace Prize ?
(A) Blanca Duncan (B) Tara J. Cole
(C) Denis Mukwege - (D) Evelyn Varnado
fpe wrgferames @i 2018 & Araw aif qRERR @ T ifva fear T ¥
(A) Bl SHT (B) o . B |
(©) 3t e (D) e aTET
[PTO.
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33

34

33

36

37

38

A device which is not suitable with Microsoft Word is -

(A) mouse (B) e-penstyles (C) key pad (D) joy stick
HEEhEE 95 % WY B 91 $aEw (device) Iuge TE ¥ ? ;
(A) A" B) - wEW™ (C) @ IS (D) g €
Which one is the latest version of Windows ?
Windows &1 W& Isi9 %I €1 & ?

(A) XP B) 10 < 7 (D) Mac OS

Which one is the short cut key for PRINT ?

fire (PRINT) &%= & &7 short cut key & —

(A) Cul +C B) Ctrl +P

<) Cul+S (D) Ctrl + Shift + P

Enzymes are - .

(A) Proteins (B) Minerals (C) Fatty Acids (D) Oils
TIEH B ¥ - |
(A) "RM (B) wfw " (C) TETEIRA (D) o

Find out the incorrect statement about CNG.

(A) It is environment friendly than petrol.

(B) Autoignition temperature of CNG is higher than petrol.

(C) Volume of CNG storage tank is lesser than LPG storage tank for the same
volume. | |

(D) CNG is lighter than air.

WA & I ¥ T w9 F witew -

(A) U8 ¥ & ga # wEERe & ogd ¥

(B) WA & @ Yeae A9 Jgid ¥ ST g ¥ |

(C) w9 arga & fog dL.aA.s. Suew ¥ a1 oo Ta. LS. SIEw T @l e
¥ %9 B ¥

(D) @r.@.ﬁr.waﬁwﬁwﬁa—cﬁ%l

An electric generator is based on the principle of :
(A) Thermoelectric effect (B) Electromagnetic induction
(C) Peltier effect (D) Seeback effect

u% foga st Frefafeas frara o enenfia ¥

(A) amfaEa wuE (B) fga gEa@ W
(C) IR yv= (D) ¥ w
AT1845] IAF 7 [PTO.
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39

40

Which colour has the least speed in glass ?

(A) Red (B) Violet (C) Green (D) Orange
g 1 % gy B AW BiE § gAAT sl § 7
(A) @@ ©) = (D) e

(B) T

We see the image of our face when we look into plane mirror. It is due to :
(A) Refraction (B) Diffraction (C) Polarisation =~ (D) Reﬂection
WY T TR U ¥ e ¥ A e ergw dwy @ it Rwg wsdn ¥ | gwe
BT & —

(A) SR (B) fererd (C) gaw (D) T
41 Phyllode is -
(A) Leaf modification (B) Spine modification
(C) Petiole green flattened (D) Scale leaf
quity g1 Brar ¥ —
(A) bfa &I | (B) %HeH BRI
(C) uvig=r 0 T TU - (D) 9w o
42 Shigella is a bacterium, that causes - .
(A) Venereal disease (B) Diarrhoea
C) TB , (D) Leprosy
ey offsrer & T BT & -
(A) TF T (B) TW
(C) &g Tm - (D) P& T
43 The blue green algae used as Single Cell Protein (SCP) is
(A) Spirulina (B) Methylophilus methylotrophu.
(C) Agaricus bisporus (D) All of these :
A T T o Uww B TN (gw g 6) @ e s fRa Sy -
(A) wEEeTET - (B) FrarmifeT Pz
(C) orifitww faquRg (D) ¥ &
44 was the first mammal cloned from an adult somatic cell.
(A) Cow (B) Sheep (C) Dog (D) Rabbit
e e wfE @ 96 ReAr W T S99 TRl WO A |
(A) T B) %5 ©) F (D) @
AT1845] XhAF | 8 [PT.O.

45

46

47

48

49

50

Chromosome is made up of

(A) DNA (B) RNA (C) Carbohydrate (D) Lipid
HEET GECE I '

A) ST T B) MY (C) wrErerEye (D) fafrs
Clouds are formed by

(A) evaporation (B) transpiration
% B 960 S & |
(A) @ (B) AT

(C) condensation (D) sublimation

(C) =zau (D) wEaET

~Which of the following is an oil seed crop ?

(A) Rose (B) Sunflower (C) Lotus (D) Marigold
frfaiad & @ &9 e Rt waa & 7

(A) e (B) HXoHE@l (C) &w (D) e
Typhoid is caused by ‘ -

(A) virus (B) bacteria (C) fungus (D) parasite
s (Bed gEn) % @R ¥ .
(A) fowmy B) ey ©) wH (D) wwtE
The fundamental unit of genetics is .

(A) Gene (B) Gamete (C) Chromosome (D) Factor
CINCINCI PR ERIE i e GG T \

(A) o (©) TR D) 1w

(B) g#®

In photosynthesis light reaction takes place in

(A) Stroma (B) Grana

© Cytdplasm | (D) Plasma membrane
WeRIeT WY & wepter ertuftear gt ¥

(A) T H (B) @mﬁ
(C) wifymT 5= o | (D)wrremi%w—v?r#
AT1845 1 fF 9 [PTO.
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52
53

54

55
56
57

58

WY % fpee TR B ¥ 7

(A) T (B) IR | (©) 9= (D) U™

mmﬁumwﬁwamwwwﬁm%,mm%+
(A) orerdsma (B) g (C) wgew (D) %

REREUSE M A B B Suet & ? |
(A) &g (B) &7 (C) gy (D) &y

vEdl b wEr Y 7 e wm @ i & e s Reeer st |
(A) T4 gl @ FEo BT ¥ |

B) = % o afeads & 2 ¥ | 0
(C) a1 w T wg e ¥ . | |

(D) = gt} &1 frtor €ar ¥

awaﬁﬂamma%‘rﬁfq:ﬁ@—‘ .
Q) =m (B) g (C) &d (D) @

fPrefifaa & & @qg’ @ watgar o T8 ¥ -
(A) Tty (B) Sl (C) UIEr (D) aiffy

‘FST w1 fawm gt ¥ -

(@A) g B) ot ©) s (D) dfrss

guT W SGIE T R & —

 (A) e, gEER, qu, T

59

AT1845] AAF 0 [PTO.

B) wm, fqw, @1, wrt
(©) e, war, Ay,
(D) oma, fasrelt, weq, fira

o, Terthy, W, e o v Prehiad ¥ & Ry frg W BCE 7
() ghasr  (B) W - (C) oA (D) wEs™

60 forg wmies ¥ o1 g o @ ord Ag ¥ 7
(A) sfr - &R — wite, R
- (B) HET - a1 -~ €9, W
(C) FAA ~ HAN — UG, a7
(D) S - W@g — ¥18d, HUW

61 ‘ST g3 ¥ e fasiwer R ?
(A) wErE (B) ST  (C) wEH (D) =

62 I @I e | g[E g ¥ -
(A) ufEm (B) W@ (C) ufads | (D) wigwT

63  frfafaa fowedl ¥ ¥ ayrg @@ weaf -
(A) Ro9T ¥ Tores R wemEr w0
(B) &9l i Al TTER UH g ¥ T @e @Ry |
(C) Fwar AU 39 W & bR HY |
(D) &1 9 HGYE T F 7

64 frfafaa & 9 wdaren amy sifeg |
C(A) A TR O gEY W Y
(B) I8F BIU HeT H GUH @M g Rpar w@r |
(C) =1 g9 A Fergan s ?
(D) #ogR we B @ ¥ |

65 ¥ TE-GT Ay wE A N Brar ¥ — ‘
(A) wmerg (B) Utumeen (C) Y (D) WS

66 ‘S {5 T Iyl @ AT ¥ AreRiy % fio e o ® -

(A). HTEA (B) s € swws (D) ==
67 UH T U W uH Wy & IR B Yow wer ¥oa 2@ wed ¥ -

(A) Frw - B) fysfa (C) ufwgs (D) sifrga
AT1845 ] XAE T [PT.O.
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68 ‘gMI’ gt w1 Shua O favw €m |
(A) M & < I (B) gl # v e 9w g
(C) gl & g (D) FiwEl &1 I
69 ‘il 9= & foq Sfaq aweris ®&oe ?
(A) R ergwa B & T 8 |
(B) frae sy gag & A & |
(C) et srwa eI &1 7 & |
(D) frEer srgwa gig &1 7 |
70 fow a ¥ ofw e % 7 - |
| (A)w+ﬁvsrm (B)W-FGW (C) am + 391 (D)%mﬁvq
E ﬁmﬁrf@aﬁ%aﬁﬂ—mam AN BT varaErE w8 ¥ P
(A) 3= (B) wwel (C) T (D) s
72 frafafea & gs o= - @ gFg -
(A) WY, ARE, AHS
(B) Sewiiy, Sfeme, SEME
(C) withee, sheq, shefs
(D) ey, stafeed, sifee
73 AR T SR ARS W T A g ¥ fr % wer @ g ¥ -
(A) o ST HebHeh (B) wHvw S S1bHh
(C) o@H® 3R THH® (D) qoferfeie ST stehvies
74 ‘eTgETE o Readk e gy dar ¥ °
(A) &= T 9 & ¢ | (B) fas &g BiC &
(C) ey g aw W (D) Toad wref & g9t &
75 T ¥ fg ol wErnde ot @r B ?
(A) Exempt (B) Exigency (C) Expatriation (D) Exchequer
AT1845] AF 12 [P.TO.

76  Choose the correct form of the verb from the option below to fill in the bia,nk
She said that she (will) go.
(A) should (B) would - (C) would be (D) will be
77  Fill in the blank with the correct tense of the verb given in the brackets. The options
are given below :
It (cost) me Rs. 100/- yesterday.
(A) costs (B) costed (C) has cost (D) cost
78  Identify from the following which sentence is correctly written in the Passive Voice.
' (A) Why was the window been broken ?
(B) Kites were being flied by some boys.
(C) One should keep his promises.
(D) Why was such a rude reply given by your sister ?
79  Choose the correct direct speech of the following sentence from the options given
below :
She says that he can do it.
(A) She says, “He could do it.” (B) She said, “He can do it.”
(C) She says, “He can do it.” (D) She said, “He could do it.”
80 Choose the correct indirect speech of the following from the given options :
He said, “She was dancing.”
(A) He said that she has been dancing.
(B) He said that she is dancing.
(C) He said that she had been dancing.
(D) He said that she had danced.
81 Choose the correct negative form of the following sentence from the glven options :
She is going out.
(A) She is not going out. (B)  She hasn't gone out.
(C) Hardly does she go out. (D) Nor she does go out.
82  Choose the correct option for Assertive to Negative transformation for the sentence
given :
Human is mortal.
" (A) Human is immortal (B) Human is not immortal
(C) Not all humans are mortal (D) Not all humans are immortal
AT1845] AAE 13 [PTO.
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83

84

85

86

87

88

89

50

AT1845] XAF

Change from Interrogative to Assertive.

Can their fame ever fade ?
(A) Their fame must not fade.
(C) Their fame will glow.

(B) Their fame will rise.
(D) Their fame can never fade.

Choose the correct interrogative of the following sentence from the given options :
No one likes doing work.

(A) Doesn't anyone like working ?

(B) Who wouldn't like working ?

(C) Does anyone like doing work ?

(D) Does everyone never like doing work ?

Choose the correct exclamatory form of the following sentence from the given options :
Krishna lectures wonderfully. /

(A) How wonderfully Krishna lectures !

(B) How Krishna lectures wonderfully !

(C) How lectures Krishna wonderfully !

(D) How wonderful are her lectures !

Choose the correct transformation from exclamatory to assertive.
What a beautiful scene this is !

(A) This is a very beautiful scene.

(B) Its indeed a beautiful scene.

(C) It is one of the most beautiful scene.

(D) There is no other scene as beautiful as these.

Fill in the blank with an appropriate article from the options given below :
I go to school by bus.

(A) a (B) zero article (C) the (D) an

Fill in the blank with the correct determiner

She is lucky. She has problems. , ;

(A) afew (B) few (C) some - (D) little
Fill in the blank with the correct preposition.

He wrote ink. -

(A) by (B) in (C) with (D) from
Fill in the blank with the correct preposition.

What is the time your watch ?

(A) by (B) in (C) on (D) at

14 [PTO.
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Choose the correct option from the options given below to fill in the blank :
- Jayaram is than Shreenivas.
(A) more wiser (B) more wise

(C) most wise (D) wiser
Choose the correct option in Hindi for the given word.
Insolvency

(B) TN W (C) @ (D) R

Which one of the following words means the same as ELEGANT ?
(A) Rough (B) Severe (C) Graceful (D) Crude

Choose the correct synonym of the following word from the options given below.
Debilitate

(A) Accept (B) Accuse (C) Weaken (D) Challenge
Choose the appropriate antonym of the given word.
Mortal

(A) Divine (B) Immortal (C) - Spiritual (D) Eternal
Choose the correct one word for the following :

A number of stars grouped together. '
(A) solar system (B) comet (C) constellation (D) orbit
Choose the correct word :

There were only a
(A) handless

of students in the class. (hand) ,
(B) handful (C) handage (D) handment
The word using suffix ‘ment’ is :

(A) Argument (B) Moment (C) Comment (D) Cement
Fill in the blank with an appropriate word from the options given below :
In that Queen's there was peace.

(A) rein (C) reign

(B) rain kD) ran

Choose the correct option :
Which part of the letter informs the reader where and when the letter was Written ?

(A) The Salutation |
(B) The Heading

(C) The Subscription

(D) The Super subscription on the envelope
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